. VCE & PDF https://www.pass4itsure.com/ncp-5-15.html
g 2024 Latest passditsure NCP-5.15 PDF and VCE dumps Download

PassditSure.com

NCP-5.15%4As

Nutanix Certified Professional - Multi cloud Infrastructure (NCP-MCI
5.15)

Pass Nutanix NCP-5.15 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/ncp-5-15.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Nutanix
Official Exam Center

@ After Purchase

© Guarantee

@ Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

NCP-5.15 VCE Dumps | NCP-5.15 Practice Test | NCP-5.15 Braindumps 1/3


https://www.pass4itsure.com/ncp-5-15.html
https://www.pass4itsure.com/ncp-5-15.html
https://www.pass4itsure.com/ncp-5-15.html

VCE & PDF https://www.pass4itsure.com/ncp-5-15.html
a 2024 Latest passditsure NCP-5.15 PDF and VCE dumps Download
=== / PassditSure.com

QUESTION 1
Which set of steps should be used to stop the cluster in Nutanix operations?

A. 1. Shut down Nutanix CVMs and Guest VMs. 2. Log on to a running controller VM in the cluster with SSH. 3. Stop the
Nutanix cluster.

B. 1. Shut down Nutanix controller VMs. 2. Log on to a running controller VM in the cluster with SSH. 3. Stop the
Nutanix cluster.

C. 1. Shut down all Guest VMs. 2. Log on to a running controller VM in the cluster with SSH. 3. Stop the Nutanix
cluster.

D. 1. Log on to a running Controller VM in the cluster with SSH. 2. Shut down all other Controller VMs. 3.Stop the
Nutanix clusters.

Correct Answer: C

QUESTION 2

Which two image types are stored by the Nutanix Image Service? (Choose two)
A. VHDX

B. ISO

C. VMDK

D. Disk

E. QCOW?2

Correct Answer: BD

QUESTION 3

An administrator needs to bring down a host in a Nutanix Cluster for maintenance reasons. The administrator puts the
host in maintenance mode.

What should the administrator do to perform an orderly shutdown of the CVM?
A. Execute the cvm_shutdown -P new command from the CVM.

B. Enter Fever off Server - immediate from the IPMI console.

C. Enter Fewer off Server-orderly Shutdown from the IPMI console.

D. Execute the cvm_shutdown -P now command from the host.

Correct Answer: D
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QUESTION 4

An administrator wants to view the IOPs statistics for each host simultaneously on the same graph.
Which type of chart on the analysis page meets this requirement?

A. Performance chart

B. Entity Chart

C. Measurement chart

D. Metric chart

Correct Answer: D

QUESTION 5

An administrator has a 5-node cluster configured for RF2 with 200 TB of raw disk space. The administrator decides to
enable Erasure Coding to gain additional usable space.

Approximately how much usable space would be available after enabling Erasure Coding?
A.100TB
B.125TB
C.150TB
D.175TB

Correct Answer: C
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